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1. The rate of Physical growth that takes place in infant and 

childhood stages does not occur in any other stages. This 
supports the following developmental principle. 

 1. Development is product of interaction  
 2. Development is not uniform in all the stages 
 3. Development follows an orderly sequence 
 4. Development is cumulative 

 e«Å£�ï\ XèÕXøe+ýË È]¹> Xæ¯sÁ¿£ �|sÁT>·T<�\, @ �ÔásÁ <�Xø\ýË ÈsÁ>·<�T  

nHû~ ç¿ì+~ $¿±d� �jáTeÖ�� d�eT]�d�Tï+~. 

 1. $¿±d�+ ÿ¿£ |�sÁd�ÎsÁ #ásÁ« 

 2. $¿±d�+ n�� <�Xø\ýË ÿ¹¿ $<ó�+>± �+&�<�T 

 3. $¿±d�+ ç¿£eÖqT>·ÔáyîT®q~ 

 4. $¿±d�+ d�+ºÔáyîT®q~ 
 

2. According to Piaget the concept of Animism is found in the 
 1. Sensori – Motor stage 
 2. Pre – Operational stage 
 3. Concrete Operational stage 
 4. Formal Operational stage 

 |¾jáÖCÉ ç|�¿±sÁ+ È+ÔáTy�<�+ (Animism) uó²eq ¿£*ÐjáTT+&û <�Xø 

 1. �+ç~jáT #�\¿£ <�Xø 

 2. |�PsÁÇ ç|�#�\¿£ <�Xø 

 3. eTÖsÁï ç|�#�\¿£ <�Xø 

 4. neTÖsÁï ç|�#�\¿£ <�Xø 

 
 
 



3. According to ‘Bridges’ the first emotion of child is  
 1. Distress 
 2. Excitement 
 3. Delight 
 4. Angry  
 »ç_&î̈dtµ ç|�¿±sÁ+ ¥Xø�eÚýË @sÁÎ&û yîTT³¼yîTT<�{ì �<ûÇ>·+ 

 1. $#�sÁ+ 

 2. �ÔûïÈ+ 

 3. �V�ä¢<�+ 

 4. ¿Ã|�+ 

 
4. The transition stage between the childhood and adulthood is  
 1. Early childhood stage 
 2. Later childhood stage 
 3. Adolescence stage 
 4. Middle age stage 
 u²\«<�XøÅ£�, ejîÖÈq <�XøÅ£� eT<ó�« <�Xø 

 1. |�PsÁÇ u²\« <�Xø 

 2. �ÔáïsÁ u²\« <�Xø 

 3. ¿�eÖsÁ <�Xø 

 4. eT<ó�« ejáTd�T <�Xø 

 
  



5. Raju is able to perceive incomplete picture as meaningful one. 
Here the principle of perception used by Raju is 

 1. Law of closure 
 2. Law of similarity 
 3. Law of proximity 
 4. Law of context 

 s�E nd�+|�PsÁï ºçÔ��� nsÁ�e+ÔáyîT®q ºçÔá+>± #áÖ&�>·*>±&�T.  

�¿£Ø&� s�E �|�jîÖÐ+ºq ç|�Ôá«¿£� �jáTeT+ 

 1. |�PsÁD �jáTeT+ 

 2. kÍsÁÖ|�« �jáTeT+ 

 3. kÍMT|�« �jáTeT+ 

 4. d�+<�sÁÒÛ �jáTeT+ 
  

6. The variable that can be changed by the experimenter based on 
the experiment is 

 1. Intervening variable 
 2. Dependent variable 
 3. Independent variable 
 4. Controlled variable 
 ç|�jîÖ¿£ï Ôáq ç|�jîÖ>±�¿ì nqT>·TD+>± eÖ¹sÌ #ásÁ+ 

 1. CË¿£« #ásÁ+ 

 2. |�sÁÔá+çÔá #ásÁ+ 

 3. d�ÇÔá+çÔá #ásÁ+ 

 4. �jáT+çÜÔá #ásÁ+ 

 
 
 
 
 
 



7. The author of the Book ‘Frames of mind’  
 1. Guilford 
 2. Howard Gardner 
 3. Binet 
 4. Terman 
 »ç�|�y�Tà �|�t yîT®+&�µ ç>·+<̧� sÁ#ásTTÔá 

 1. ÐýÙ|��sY¦ 

 2. V�äy�sY¦ >±sY¦qsY 

 3. _Hû 

 4. fÉsÁ�H� 

 

8. WAIS is a/an 
 1. Intelligence Test 
 2. Aptitude Test 
 3. Interest Test  
 4. Projective Test 
 WAIS nHû~ ÿ¿£ 

 1. ç|�C²ã |�̄ ¿£� 

 2. d�V�²È kÍeTsÁÆ« |�̄ ¿£� 

 3. n_ósÁTº |�̄ ¿£� 

 4. ç|�¹¿�|�¿£ |�̄ ¿£� 

 

  



9. Lakshmi gives a number of solutions to a problem. Here the 
thinking of Lakshmi is 

 1. Convergent thinking  
 2. Divergent thinking 
 3. Associative thinking 
 4. Abstract thinking 

 \¿ì�� ÿ¿£ d�eTd�«Å£� nHû¿£ |�]cÍØs�\T #î|�Úï+~. � d�+<�sÁÒÛ+ýË 

\¿ì�� jîTT¿£Ø �ýË#áq 

 1. d�yîT®¿£« �ýË#áq 

 2. $_óq� �ýË#áq 

 3. d�+d�sÁZ �ýË#áq 

 4. neTÖsÁï �ýË#áq 

 
10. “Inkblot Test” is a test of 
 1. Interest 
 2. Attitude 
 3. Intelligence 
 4. Personality 
 »»d¾s�eTsÁ¿£\ |�̄ ¿£�µµ B�� |�̄ ¿ì�d�Tï+~. 

 1. n_ósÁTº  

 2. yîÕK] 

 3. ç|�Èã 

 4. eTÖ]ïeTÔáÇ+ 

 

  



11. One of the following is not related to Pavlov’s theory 
 1. Extinction  
 2. Stimulus - Generalisation 
 3. Spontaneous recovery 
 4. Self-reinforcement 
 ç¿ì+~ y�{ìýË bÍy�ýËy� d¾<�Æ+Ô��¿ì d�+�+~ó+#á�~ 

 1. $sÁeTD 

 2. �BÝ|�q ` kÍeÖú«¿£sÁD 

 3. njáTÔá� d¾<�ÝkÍÇd��«eTT 

 4. dÓÇjáT |�ÚqsÁÒ\q+ 

 
12. The process that instigates an individual to act is 
 1. Rationalization 
 2. Fantacy 
 3. Motivation 
 4. Acceleration 
 e«¿ìï ÿ¿£ |��� #ûjáT&��¿ì |�Ú]¿=ýñÎ ç|�ç¿ìjáTqT �ý² n+{²sÁT. 

 1. �V²ÔáT¿¡¿£sÁD+ 

 2. �dÕÇsÁ¿£\Îq 

 3. ç�|sÁD 

 4. ÔáÇsÁD+ 

 

 

 

 

 

 

 



13. This does not belong to Bruner’s instructional order 
 1. Enactive method 
 2. Iconic method 
 3. Symbolic method 
 4. Deductive method 
 ç�ÖqsY d�Öº+ºq uË<ó�H� ç¿£eT+ýË ýñ�~  

 1. ç¿ìjáÖÔá�¿£ |�<�ÆÜ 

 2. ºçÔá̀ ç|�ÜeT |�<�ÆÜ 

 3. ç|�r¿±Ôá�¿£ |�<�ÆÜ 

 4. �>·eTH�Ôá�¿£ |�<�ÆÜ 

 
14. The schedules of reinforcement for classroom management is 

proposed by 
 1. B.F. Skinner 
 2. Ivan Pavlov 
 3. E.L. Thorndike 
 4. J.B. Watson 
 ÔásÁ>·Ü>·~ �sÁÇV�²DÅ£� |�ÚqsÁÒ\q �jáTeÖ\qT sÁÖbõ+~+ºqy�sÁT 

 1. _.m|�t. d¾Øq�sY 

 2. �y�H� bÍy�ýËy� 

 3. �. mýÙ. <�̧sY�&îÕ¿ù 

 4. CÉ._. y�³àH� 

 
 
 

 
 
 
 



15. The scientist who conducted experiment with ‘Bobo doll’  
 1. Bruner 
 2. Bandura 
 3. Skinner 
 4. Gessel 
 »uËuË&�ýÙµÔÃ ç|�jîÖ>±\T #ûd¾q Xæçd�ïyûÔáï 

 1. ç�ÖqsY 

 2. �+&�Ös� 

 3. d¾Øq�sY 

 4. Â>�dýÙ 

 
16. “Learning is understanding the relations between components 

in the learning situation” is stated by  
 1. Skinner 
 2. Bruner 
 3. Kohler 
 4. Thorndike 
 »»nuó�«d�q+ nHû~ nuó�«d�q |�]d¾�ÔáT\ýË� n+Xæ\T y�{ì eT<ó�« �q� 

d�+�+<ó�\qT ne>±V�²q #ûd�T¿Ãe&�yûTµµ n� �|s=Øq�~. 

 1. d¾Øq�sY 

 2. ç�ÖqsY 

 3. ¿ÃVt²\sY 

 4. <̧�sY�&îÕ¿ù 

 

 

 

 



17. This is also called as ‘Saving Method’ 
 1. Paired association 
 2. Retention  
 3. Recall 
 4. Relearning 
 B�� »bõ<�T|�Ú |�<�ÆÜµ n� Å£L&� �|s=Øqe#áTÌ 

 1. <�Ç+<�Ç d�+d�sÁTZ\T 

 2. <ó�sÁD 

 3. |�Úq'd��sÁD 

 4. |�ÚqsÁuó�«d�q+ 

 

18. Non directive counselling is pioneered by 
 1. Carl Rogers 
 2. Crow and Crow 
 3. Bruner 
 4. Beckman 
 n�¹sÝXø¿£ eT+çÔáD+ nqT uó²eqqT ç|�yûXø�|{ì¼q~ 

 1. ¿±sY¢ sÃÈsYà 

 2. ç¿Ã Ê ç¿Ã 

 3. ç�ÖqsY 

 4. uÉ¿ùeTH� 

  
  



19. One of the following is ‘Perspective of Summer hill’ 
 1. Learning through freedom 
 2. Learning through teacher 
 3. Learning through books 
 4. Learning through criticism 
 ¿ì+~ y��ýË »d�eT�sYV¾²ýÙ <��¿£Î<̧�+µ 

 1. �dÇ#áÌÛ <�Çs� HûsÁTÌÅ£�+{²sÁT. 

 2. �bÍ<ó�«jáTT� <�Çs� HûsÁTÌÅ£�+{²sÁT. 

 3. |�Úd�ï¿±\ <�Çs� HûsÁTÌÅ£�+{²sÁT. 

 4. $eTsÁô <�Çs� HûsÁTÌÅ£�+{²sÁT. 

 

20. Nishanth is doing maths project. He was given reinforcement 
for every five minutes. It is 

 1. Continuous Reinforcement Schedule  
 2. Variable Reinforcement Schedule 
 3. Fixed Ratio Reinforcement Schedule 
 4. Fixed interval Reinforcement Schedule 
 �Xæ+ÔY >·DìÔ��¿ì d�+�+~ó+º çbÍCÉÅ£�¼|�� #ûd�TïH��&�T. nÔá�¿ì ç|�Ü 

5 �$TcÍ\Å£� ÿ¿£kÍ] |�ÚqsÁÒ\q+ ¿£*Zd�Tï+fñ n~ 

 1. �sÁ+ÔásÁ |�ÚqsÁÒ\q �jáTeT+ 

 2. #ásÁo\ |�ÚqsÁÒ\q �jáTeT+ 

 3. d¾�sÁ �w�ÎÜï  |�ÚqsÁÒ\q �jáTeT+ 

 4. d¾�sÁ ¿±\ e«e~ó  |�ÚqsÁÒ\q �jáTeT+ 

 

 
  



21. ‘1’ Gigabyte = 
 1. 1024 Kilobytes 
 2. 1024 Megabytes 
 3. 1024 Terabytes 
 4. 1024 Hexabytes 
 »1µ Ð>±uÉÕ{Ù R 

 1. 1024 ¿ìýËuÉÕ{Ùà 

 2. 1024 yîT>±uÉÕ{Ùà 

 3. 1024 fÉs�uÉÕ{Ùà 

 4. 1024 �V²¿±àuÉÕ{Ùà 

 

22. Learning will happen, if you  
 1. scare 
 2. stress 
 3. motivate 
 4. compare to others 
 �ý² #ûjáT&�+ e\q nuó�«d�q ÈsÁT>·TÔáT+~. 

 1. uó�jáT�|³¼&�+ 

 2. ÿÜï&�¿ì >·T]#ûjáT&�+ 

 3. ç�|sÁD ¿£*Ð+#á&�+ 

 4. �ÔásÁT\ÔÃ bþ\Ì&�+  

 

23. Academic structure proposed by New Education Policy-2020 is 
 qÖÔáq $<�« $<ó�q+`2020 ç|�ÜbÍ~+ºq $<�«#áç³+ 

 1. 5+3+3+4 
 2. 5+3+4+3 
 3. 5+4+3+3 
 4. 3+3+4+5 
  



24. One of the following is a text format 
 ç¿ì+~ y�{ìýÙ fÉ¿ù¼à b�ÍÂs�{Ù 

 1. .doc 
 2. .bmp 
 3. .Sgml 
 4. .jpeg 

 

25. The IQ of ‘Educable Mentally Retarted’ is 
 1. between 70 - 90 
 2. between 30 - 50 
 3. between 50 - 70 
 4. Below 50 

 »$<�« HûsÁÇ>·\ eÖqd¾¿£ $¿£ý²+>·T\µ jîTT¿£Ø IQ 

 1. 70 ` 90 eT<ó�« 

 2. 30 ` 50 eT<ó�« 

 3. 50 ` 70  eT<ó�« 

 4. 50 ¿£H�� ÔáÅ£�Øe 

 

26. Sakai Project is a  
 1. Web based student information 
 2. Web based learning management system 
 3. Free open source learning management system 
 4. Cooperative learning management system 
 d�¿±jYT çbÍCÉ¿ù¼ nHû~ 

 1. yîuÙ �<ó�]Ôá $<�«]� d�eÖ#�sÁ+ 

 2. yîuÙ �<ó�]Ôá ýÉ]�+>́ yûTHûCÙyîT+{Ù d¾d�¼y�T 

 3. �ºÔá z�|H� kþsYà ýÉ]�+> ́ yûTHûCÙyîT+{Ù d¾d�¼y�T 

 4. d�V�²¿±sÁ nuó�«d�q yûTHûCÙyîT+{Ù d¾d�¼y�T 



27. ‘Zone of Proximal Development’ concept is proposed by 
 1. Piaget 
 2. Bandura 
 3. Vygotsky 
 4. Skinner 
 »d�MT|� $¿±d� eT+&�\+µ (Zone of Proximal Development) nHû  

uó²eqqT ç|�ÜbÍ~+ºq y�sÁT 

 1. |¾jáÖCÉ 

 2. �+&�ÖsÁ 

 3. yîÕ>Ã{ÙdÓØ 

 4. d¾Øq�sY 

 

28. Article 21`A provides this right 

 1. Right to Equality 
 2. Right to Freedom 
 3. Right to Education 
 4. Right to Work 
 �]¼¿£ýÙ 21`m � V�²Å£�ØqT n+~d�Tï+~  

 1. d�eÖqÔáÇ|�Ú V�²Å£�Ø 

 2. �dÇ#�ÌÛ V�²Å£�Ø 

 3. $<�« V�²Å£�Ø 

 4. |�� V�²Å£�Ø 

 

 

  



29. Disability in reading is called 
 1. Dyslexia 
 2. Dysphasia 
 3. Dysgraphia 
 4. Dyscalculia 
 |�sÄÁq d�+�+<ó� nuó�«d�q yîÕ¿£\«+ 

 1. &�dtýÉ¿ìàjáÖ 

 2. &��d�|�d¾jáÖ 

 3. &�dtç>±|�¾jáÖ 

 4. &�dt¿±«*Å£�«*jáÖ 

 

30. Full form of SAS according to NEP – 2020  

 NEP – 2020 ç|�¿±sÁ+ SAS $d�ïsÁD sÁÖ|�+ 

 1. School Assistant - Social 
 2. Scholastic Achievement Statistics 
 3. State Achievement Survey 
 4. Safe Act Station 

 

  



 
 

31. d�+^Ôá+ýË @&�T d�Çs�\T+{²sTT. n$ ` w�&�̈eT, ]w�uó�, >±+<ó�sÁ, eT<ó�«eT, 

|�+#áeT, <îÕeÔá, �cÍ<�. M{ì d�+¿ì�|�ï sÁÖbÍýñ d�̀ ]`>·̀ eT`|�̀ <�̀ � nHû  

d�|�ïd�Çs�\T. M{ì� nHû¿£ ¯ÔáTýË¢  yûTÞø$+#á&�+ e\¢ s�>±\T @sÁÎ&�Ô�sTT.  

ç|�Ü s�>·+ýËqÖ d�|�ïd�Çs�\T Ôá|�Î�d�]>± �+&�\q� �jáTeT+ ýñ<�T. 

 �|Õ >·<�«+ýË »¿£*jáTTµ nHû |�<��¿ì d�eÖH�sÁ�¿£ |�<�+ 

 1. d�+¿ì�|�ï+ 

 2. ¯ÔáT\T 

 3. |�+#áeT+ 

 4. yûTÞø$+#áT 

 

32. kÍeÖH�«sÁ�eTTqT uË~ó+#áT Xø�ÝeTT ç¿£eTeTT>± d�+Å£�ºÔáÔáÇeTT H=+~ 

¹¿e\+ $Xâw�eTTHû uË~ó+#áT³ n|�Î&�|�ð&�T ¿£�|¾+#áTqT. »NsÁµjáTqT  

Xø�ÝeTTq¿£T »eçd�ïeTTµ n� eÖçÔáyûT nsÁ�eTT çbÍsÁ+uó�¿±\eTTqqTq�~.  

»dÓÔ�s�eTT*<�ÝsÁTqT H�sÁNsÁ\T <ó�]+º]µ nqTq|�Ú&�T »NsÁµ kÍeÖq« 

y�#á¿£eTT. Hû{ì ¿±\eTTq çdÓï\T �|�jîÖÐ+#áT eçd�ïeTTqÅ£� eÖçÔáyûT  

»NsÁµ jáTqT e«eV�äsÁeTT >·\<�T. � eÖsÁTÎqT nsÁ�d�+¿Ã#áeTT n+<�TsÁT. 

 �|Õ >·<�«+ �<ó�sÁ+>± nsÁ�d�+¿Ã#áeTTqÅ£� d�ÂsÕq y�¿£«+ >·T]ï+#á+&�. 

 1. kÍeÖH�«sÁ�eTT uË~ó+#û Xø�ÝeTT ç¿£eT+>± ¹¿e\+ $Xâw�eTTHû 

uË~ó+#áT³ 

 2. $XâcÍsÁ�eTT uË~ó+#û Xø�ÝeTT ç¿£eT+>± kÍeÖH�«sÁ�eTT uË~ó+#áT³ 

 3. Ô=\TÔá eT+º nsÁ�eTTÔÃ �+&� ç¿£eT+>± ÔáÅ£�Øe d¾�Ü¿ì ~>·C²sÁT³ 

 4. |�]$TÔ�sÁ� uË<ó�¿£yîT®q ÿ¿£ |�<�+ nsÁ�$d�ï�Ü� bõ+<�T³ 

 

 



33. ¿£�eTýñ� Ôá|�d¾ Ôá|�eTTqT 

ç�eTÔáTï d�+|�<�jáTT, <ó�sÁ� u²V�²« ç|�uó�Ts� 

È«eTT _óq� Å£�+uó�eTTq ÔÃ 

jáTeTT \³T¼\ jáTç<ó�Te+�T\>·T�$ jîT\¢H� 

 zsÁTÎýñ� Ô�|�d¾ Ôá|�d�TàqT ¿£$ B�ÔÃ bþý²Ì&�T. 

 1. <ó�sÁ� u²V�²« ç|�uó�TeÚ 

 2. ç|�eTÔáTï d�+|�<� 

 3. _óq� Å£�+uó� ÔÃjáTeTT 

 4. jáTç<ó�Te+�T\>·T�$ 

  
34. sÃw�eTjáT eTV�ä ÔásÁTeÚ d�TjîÖ<ó�qT&�TsÁT 

d�Ø+<ó� eT+<�T ýËq >·sÁT�&�\sÁT 

>=eT� kå�\T&�T, >·Td�TeT|��\eTT\T <�T 

Xæôd�qT+&�T, eTÖ\Xø¿ìï Ôá+ç&� 

 sÃw�eTjáT eTV�äe�¿�±�¿ì MsÁT #î³T¼ uË<îe+{ì y�sÁT 

 1. <�TsÃ«<ó�qT&�T 

 2. kå�\T&�T 

 3. <�TXæôd�qT&�T 

 4. ¿£sÁT�&�T 

 

35. »q\¢ ç<�¿£� |�+~]µ M] sÁ#áq 

 1. ¿=\¿£\Ö] �H�¿ù 

 2. m+&�Ö¢] d�T<ó�¿£sY 

 3. �Xæy�~ ç|�¿±Xøs�eÚ 

 4. n<ûÝ|�*¢ s�yîÖ�V�²qs�eÚ 

 
 



36. ¿ì+~ y�{ìýË d�ÂsÕq ¿£sÁ�Dì y�¿±«�� >·T]ï+#á+&�. 

 1. >±+BóJ �|�ð d�Ô�«ç>·V�ä�� q&�|¾+#�&�T. 

 2. >±+BóJ #ûÔá �|�ð d�Ô�«ç>·V�²+ q&�º+~. 

 3. >±+BóJ #ûÔá �|�ð d�Ô�«ç>·V�²+ q&�|��&�+~. 

 4. �|�ðd�Ô�«ç>·V�ä�� >±+BóJ q&�|¾+#�&�T. 

 
37. »»HûqT eÖ H�q� >±] jáTqTeTÜÔÃ jáÖ&�T¿=qT³Å£� yîÞèß&� y�&��µµ 

� y�¿±«�¿ì d�ÂsÕq �<ó�T�¿£ e#áq+ 

 1. Ô�qT eÖH�q�>±] nqTeTÜÔÃ jáTÖ&�T¿=qT³Å£� yîÞèß&�y�&�T. 

 2. HûqT eÖH�q�>±] jáTqTeTÜÔÃ ç¿¡&�+#áT³Å£� yîÞèß&�y�&��. 

 3. jûTqT eÖÔá+ç&�>±] nqTeTÜÔÃ&� jáÖ&�T¿=qT³Å£� yîÞø�ß#áT+{ì�. 

 4. HûqT eÖH�q�>±] nqTeTÜÔÃ �&�T¿Ãe&��¿ì yîÞâßy�&��. 

 
38. »$<�ÇH� $XøÇ+µ nd�\T �|sÁT 

 1. ¿ìÞ²+_ yî+¿£³ qsÁd¾+V�ä#�sÁT«\T 

 2. uó²>·eÔáT\ d�<�¥e Xø+¿£sÁ Xæçd¾ï 

 3. MeP] yû+¿£{²#�sÁT«\T 

 4. MTd�sÁ>·+&� $XøÇsÁÖbÍ#�] 

 
39. »»neÖ� yîieÅ£� eT~ýË 

�eTT�>· eTiìyû&�ØqT+&�T $T¿£µµ n� dÓÔ�<û$� z<�]Ìq~ 

 1. çÜÈ³ 

 2. V�²qTeT+ÔáT&�T 

 3. eT+&Ã<�] 

 4. d�ÇjáT+ç|�uó� 

 



40. ¿ì+~ y�{ìýË njáT«\s�E s�eTuó�ç<�T� _sÁT<�T\T 

 n. ne<ó�q |�+#�qq 

 �. ç|�Üy�~eT<�>·È |�+#�qq 

 �. #áÔáTsÁkÍV¾²Ôá« \¿£�D#áç¿£e]ï 

 �. ¿£$Ô� eÔá+d� 

 1. n, � 

 2. �, � 

 3. �, � 

 4. �, � 

 
41. ¿ì+~ y�{ìýË bÍsÄÁeTT ç|�ç¿ìjáT\ |�sÁ+>± d�ÂsÕq$ >·T]ï+#á+&�. 

 n. d�eT<��w¾¼ ` >·ÈýÙ 

 �. H�#á<�TeÚ ` eTTU²eTTÏ 

 �. @<ûXøyûTÐH� ` jáÖçÔ� #á]çÔá 

 �. H�{ì #á<�TeÚ ` J$Ôá #á]çÔá 

 1. n, � 

 2. �, � 

 3. n, � 

 4. �, � 

 

  



42. ¿ì+~ |�<�«bÍ<�\qT d�ÂsÕq ç¿£eT+ýË neTsÁÌ+&�. 

 n. eÖºs�EeÖ³ eTDT\eTÖ³ 

 �. @$Týñ� $d�ï ÂsÐÂsÐ]|�&�TqT 

 �. �+&�T$d�ïs�Å£� �XøÌ\+�T>· qT+&�T 

 �. $qsTTjáT>·T $yû¿ì, $iÀM>·T È&�T+&�T 

 1. �, �, �, n 

 2. �, �, �, n 

 3. �, �, �, n 

 4. �, �, �, n 

 
43. $<�«sÁT�\Å£� �q+<��� ¿£*Ð+#á&�+, }V�äXø¿ìï� �|+#á&�+  

Ô�]Ø¿£ �ýË#áqqT ¿£*Ð+#á&�+ e+{ì \¿£�D²\qT �|+bõ+~+#û  

C²q|�<� ¿£<̧� 

 1. eÖjáÖ¿£+�[ 

 2. eÖ³eTV¾²eT 

 3. �Ôá�¿£<̧� 

 4. C²q|�<�T� C²�T 

 
44. �ÔáïeTT\ÔÃ #û]q eÖqeÚ� @qT>·T\¿£��D¿£$ B�ÔÃ bþý²Ì&�T 

 1. yû&� �qTeTT MT<� |�&�q ú{ìÔÃ 

 2. Ô�eTs�Å£� MT<� ú{ì _+<�TeÚÔÃ 

 3. eTTÔá«|�Ú º|�ÎýË |�&�¦ ú{ì #áT¿£ØÔÃ 

 4. d�eTTç<�+ýË |�&�q ÔûHî #áT¿£ØÔÃ 

 

 

 



45. »|¾H�¿£ bÍDìµ |�<��¿ì nsÁ�+ 

 1. d�ÖsÁT«&�T 

 2. �+ç<�T&�T 

 3. ¥eÚ&�T 

 4. #á+ç<�T&�T 

 
46. »Uñ<�+µ ` |�<��¿ì |�s�«jáT|�<�\T 

 1. >·sÁÇ+, bõ>·sÁT 

 2. <�T:KeTT, u²<ó� 

 3. #î*$T, n$eTT¿£ï+ 

 4. �d�TsÁT, bÍ|�+ 

 
47. »neÖy�d�«µ |�<��¿ì $¿£�Ü |�<�+ 

 1. �eÖd�« 

 2. nd�eTd� 

 3. neTed� 

 4. �eÖy�d�+ 

 
  



48. |�<�\qT y�{ì H�H�s��\ÔÃ ÈÔá|�sÁ#á+&�. 

 n. ýË¿£+    ¿£. yî<�TsÁT, |¾\¢qç>Ã$ 

 �. ~Å£�Ø    K. #áÖ|�Ú, È>·ÔáTï 

 �. e+Xø+    >·. $ÔásÁD+, ç¿£eTeTT 

 �. <ó�sÁ    |��T. ~Xø, �bÍjáT+ 

 1. n`K, �`|��T, �`¿£, �`>· 

 2. n`K, �`>·, �`|��T, �`¿£ 

 3. n`>·, �`|��T, �`¿£, �`K 

 4. n`¿£, �`|��T, �`K, �`>· 

 

49. es�ü\T Å£�]d¾, |�+³\T <î�ÒÜH��sTT. � y�¿£«+ýË 

 1. ÿ¿£ nd�eÖ|�¿£, ÿ¿£ d�eÖ|�¿£ ç¿ìjáT �H��sTT 

 2. ÿ¿£ XøçÔásÁ�¿£+, ÿ¿£ #û<�sÁ�¿£+ �H��sTT 

 3. Âs+&�T ç¿ìjáT\Ö #û<�sÁ�¿±ýñ 

 4. Âs+&�T ç¿ìjáT\Ö XøçÔásÁ�¿±ýñ 

  

50. »<ûV¾²µ |�<��¿ì eÚÔáÎÔáï«sÁ�+ 

 1. <ûV�²eTTqT H�Xøq+ #ûjáTTy�&�T 

 2. <ûV�²eTTqT <ó�]+ºqy�&�T 

 3. <ûV�²eTTqT ç�|$T+#û y�&�T 

 4. <ûV�²eTT�|Õ y�«yîÖV�²+ ýñ�y�&�T 

 

 

 

 



51. »eÖqeÔ� $\Te\Tµ �Üe�Ôáï+>± >·\ bÍsÄ�\T 

 n. ºsÁeÖ*q«+ 

 �. Ôá�|¾ï 

 �. <ó�sÁ��sÁ�jáT+ 

 �. �Ü<̧�«+ 

 1. n, � 

 2. n, � 

 3. �, � 

 4. �, � 

 

52. Ôá\jáTT ÔÃ¿£qT+&�T |�\T¿£ H�\T¿£ ýñ<�T 

|�+&�T¢ >·\eÚ >±� ¿±qs�eÚ 

|�{ì¼#áÖ&�q+<�T çbÍDyûT jáTT+&�<�T 

B� uó²eyûT$T? ÜsÁTeTýñXø! 

 ` �|Õ bõ&�T|�Ú ¿£<�̧qT $|�Î+&�. 

 1. Å£�¿£Ø 

 2. bÍeTT Å£��Td�+ 

 3. y�jáTTeÚ 

 4. Ôû\T 

 

53. y�eTqT� ¿=sÁÅ£� �* eTÖ&�&�T>·T\ Hû\ <�q+ #ûXæ&�T. 

 ^Ôá̂ d¾q |�<�+ @ $uó�¿ìï ç|�Ôá«jáT+ 

 1. w�wÓ÷ 

 2. d�|�ïMT 

 3. #áÔáT �̄ 

 4. Ôá�rjáÖ 

 



54. »ÔáÇsÁÔÃ"ÈHîH=¿£ eTV�ä sÁe+�T<�sTT+|�H�µ � y�¿£«+  

�<ó�sÁ+>± ç¿ì+~ y��ýË ç<�TÔáç|�¿£�Ü¿£+ 

 1. ÿ¿£ 

 2. eTV�äsÁe+�T 

 3. �<�sTT+|�H� 

 4. ÔáÇsÁÔÃ 

 
55. e�~Æd�+~óýË n¿±s��¿ì z, W \T |�sÁyîT®Ôû @¿±<ûXø+>± e#ûÌ n¿£�sÁ+ 

 1. ÿ 

 2. z 

 3. W 

 4. nsY 

 

56. n¿£Ø&� G n¿£Ø&� �+<�TýË |�sÁ|�<��� �ý² e«eV�ä]kÍïsÁT. 

 1. �çyûT&�Ôá+ 

 2. ç<�TÔáeTT 

 3. ç<�TÔáç|�¿£�Ü¿£eTT 

 4. çÜ¿£eTT 

 

57. »�bÍ<�eTd�ï¿£+µ d�eÖd�+ �|sÁT 

 1. #áÔáT �̄ÔáÔáTÎsÁTw�  

 2. neÇsTTuó²e  

 3. <�Ç+<�Ç 

 4. �V�QçMV¾²  

 

 



58. XæsÁÖÝ\ |�<�«�¿ì d�+�+~ó+ºq d�ÂsÕq y�¿±«\T 

 n. ç|�Ü bÍ<�+ýË 12e n¿£�sÁ+ jáTÜkÍ�q+ 

 �. |�<�«+ yîTTÔáï+ýË d�>·D, Ôá>·D²\ d�+K« d�eÖq+ 

 �. ç|�Ü bÍ<�+ýË m�$T~ \|��TTeÚ\T �+{²sTT. 

 �. çbÍd� �jáTeT+ yîTT<�{ì eTÖ&�TbÍ<�\ýË eÖçÔáyûT �+³T+~. 

 1. n, � 

 2. �, � 

 3. �, � 

 4. n, � 

 

59. nsÁ�uóñ<�+ ýñÅ£�+&� Ô�ÔáÎsÁ« uóñ<�+ e#ûÌ $<ó�+>± ÿ¹¿ |�<���  

yî+³ yî+³Hû ç|�jîÖÐ+ºq³¢sTTÔû 

 1. #óû¿±qTçbÍd� 

 2. jáTeT¿£+ 

 3. e�Ôáï«qTçbÍd� 

 4. ý²{²qT çbÍd� 

 

60. »»C²ãH�Ð� eT�w¾ �T~Æ� ç|�È̈Ç*+|� #ûd�Tï+~µµ. � y�¿£«+ýË� n\+¿±sÁ+ 

 1. �|�eT 

 2. B|�¿£ 

 3. sÁÖ|�¿£ 

 4. �çÔûÎ¿£� 

  



 
 

61. Read the following conversation. 
 A: Shall I do it for you? 
 B: Oh! Don’t bother, I can do it myself. 
 In the above conversation: 
 1. B is declining the offer of A. 
 2. A is expressing good wishes to B. 
 3. B is accepting the offer of A. 
 4. A and B are helping each other. 
 

62. Choose the sentence that can be used to give some advice. 
 1. Smoking is expensive. 
 2. I don’t like smoking. 
 3. You ought to stop smoking. 
 4. You are a chain smoker. 
 

63. Choose the option which is one of the ways to ensure accuracy 
in a news report. 

 1. use sensational language to grab reader’s attention. 
 2. double check facts and figures 
 3. include personal opinions 
 4. rely on unverified sources. 
 

64. Choose the option that is a best practice for writing the body 
of a professional email. 

 1. using casual language and slang 
 2. writing in lengthy paragraphs without breaks 
 3. staying on topic and being concise 
 4. including irrelevant anectodes. 
 
 



65. Choose the correctly punctuated sentence. 
 1. “Father said,” Why are you shouting, Sarala? 
 2. Father said, Why are you shouting Sarala? 
 3. “Father said,” Why are you shouting Sarala. 
 4. Father said, “Why are you shouting, Sarala?” 
 

66. This is / a book / that I was / looking for. 
     A         B    C  D 

 Choose the part that has a grammatical error. 
 

 1. A 
 2. B 
 3. C 
 4. D 
 

67. When Sahu bought the bullock, it suffered from no _______ 
ability or disease. 

 Choose an appropriate prefix to complete the spelling the 
word. 

 1. un 
 2. non 
 3. ill 
 4. dis 

 

68. The word ‘dimension’ has stress on: 
 1. the third syllable 
 2. the second syllable 
 3. the first syllable 
 4. the first and the second syllable 

 

 

 



69. Choose the meaning of the idiom “all eyes”. 
 1. watching in anger 
 2. not watching at all 
 3. watching without interest 
 4. watching eagerly 

 

70. You should buy some woolens before winter _______. 
 Choose the phrasal verb that fits the blank. 
 1. sets out 
 2. sets in 
 3. sets up 
 4. sets down 

 

71. Choose the correctly spelt word. 
 1. Phylestines 
 2. Phylitines 
 3. Philistines 
 4. Philestines 

 

72. Choose the option that can be used as a one-word substitute 
for “a person who studies birds scientifically”. 

 1. an anthropologist 
 2. an ornithologist 
 3. an anthologist 
 4. a linguist 

 
 

 
 

 
 



73. I thought I could restore it. 
 Choose the synonym of the word ‘restore’. 
 1. repair 
 2. shed 
 3. strip 
 4. undress 

 

74. The Indian government bestowed upon her one of the nation’s 
top honours, the Padmashri. 

 Choose the antonym of the word ‘bestowed’ 
 1. volunteered  
 2. awarded 
 3. furnished 
 4. denied 
 

75. Choose the sentence in which the articles are used properly. 
 1. The gold is the valuable metal. 
 2. I always like to read the poetry of Milton. 
 3. This woman goes to the heaven. 
 4. She lives at the Gandhi Nagar. 
 

76. I do not know who this car belongs ________ 
 Choose the preposition that fits the blank. 
 1. for 
 2. with 
 3. by 
 4. to 
 

 

 
 



77. Gopal had to repair his bicycle yesterday. 
 Choose the meaning of the above sentence. 
 1. It was necessary for Gopal to repair his bicycle. 
 2. It was necessary for Gopal to take the repaired bicycle 

home. 
 3. It was not possible for Gopal to get the bicycle. 
 4. Gopal was working in a repairing shop. 
 

78. I didn’t notice any serious _______ of opinion among the 
debaters, although they ________ from one another over small 
points. 

 Choose the set of words that fit the blanks respectively. 
 1. differed; difference 
 2. differently; different 
 3. difference; differed 
 4. differ; differently 

 

79. Meena asked her friend, “Do you think your teacher will come 
today?” 

 Choose the reported speech of the sentence above.  
 1. Meena asked her friend if she thought her teacher 

would come that day. 
 2. Her friend asked Meena if she is thinking. 
 3. Meena asked her friend to think her teacher will come 

that day. 
 4. Meena asked her friend not to think of her teacher that  

day. 
 

 
 

 
 

 



80. Choose the sentence in passive voice. 
 1. The newspapers had to be bundled and thrown out from 

the moving train. 
 2. I used to collect the seeds and sell them. 
 3. My father had an ideal helpmate in my mother. 
 4. I filled the slot. 
 

81. Three of them ____________ absent today. 
 Choose the correct option that fits the blank. 
 1. is 
 2. has been 
 3. was 
 4. are 

 

82. If you come early, you will catch the bus. 
 The above sentence is an example of: 
 1. a relative clause 
 2. a defining relative clause 
 3. a noun clause 
 4. an adverbial clause 

 

83. Choose the abstract noun from the following 
 1. quickly 
 2. Australian 
 3. citizen 
 4. bravery 

 

 
 

 
 



84. Imagine having no arms to stretch in the morning. 
 In the sentence above, the word ‘imagine’ is 
 1. an adverb 
 2. a verb 
 3. a noun 
 4. an adjective 

 

85. Choose the compound sentence from the following. 
 1. He became a pioneer of India’s software industry and 

started the Information Technology wave. 
 2. Your best friend is yourself. 
 3. He did not reply. 
 4. Today he has become an icon of simplicity. 
 

86. Choose the linker that shows contrast. 
 1. on the contrary 
 2. thus 
 3. hence 
 4. meanwhile 
 

87. Ring the alarm bell ______ fire. 
 Choose the correct phrasal preposition to complete the 

meaning of the sentence above 
 1. ahead of 
 2. in addition to 
 3. in case of 
 4. in spite of 
 

 
 

 



88. Could you please lend me your watch? 
 This sentence indicates: 
 1. making a request. 
 2. taking permission 
 3. past habit 
 4. future of the past 
 

89. Read the following passage 
 Thank you Shelly, Diane said holding her hand out for me to 

shake, “For taking care of Sam. We were in a traffic accident 
and somehow we get separated when I went to the hospital. I 
guess he lost his collar and harness too. I looked at her hand. I 
didn’t want to give Goldy up. But I could see that it was this 
lady he really belonged to. Not to me. I was just temporary. 

 In the passage, Diane thanks Shelly for: 
 1. taking care of her during the traffic accident. 
 2.  finding her lost collar and harness. 
 3.  looking after Sam during her absence. 
 4. shaking her hand. 
 

90. Read the following passage 
 Thank you Shelly, Diane said holding her hand out for me to 

shake, “For taking care of Sam. We were in a traffic accident 
and somehow we get separated when I went to the hospital. I 
guess he lost his collar and harness too. I looked at her hand. I 
didn’t want to give Goldy up. But I could see that it was this 
lady he really belonged to. Not to me. I was just temporary. 

 The dog really belongs to: 
 1. Shelly 
 2. Diane 
 3. Sam 
 4. Both Sam and Shelly 

  



  

 

91. Lava Plateaus are famous for the following soils 

  1. Black soils 

 2. Red soils 
 3. Alluvial soils 
 4. Sandy soils 
 ý²y� |ÓsÄÁuó�ÖeTT\T ç¿ì+~ Hû\\Å£� ç|�d¾~Æ #î+<�sTT. 

 1. q\¢¹s>·&� Hû\\T 

 2. mçsÁ Hû\\T 

 3. ÿ+ç&�T Hû\\T 

 4. �d�T¿£ Hû\\T 

   
  
92. Identify the river which flows in China from the following  
 1. Volga 
  2. Huang He 
 3. Nile 
 4. Euphrates  

 � ç¿ì+~ y�� qT+&� #îÕH�ýË ç|�eV¾²+#áT q~� >·T]ï+#áTeTT.  

 1. yÃý²Z 

 2. V�²ÃjáT+>́ V�²Ã 

 3. HîÕ\T 

 4. jáTÖç|��{ìdt 

 
  



93. The trees that worshipped by the Indus people were  
  1. Banyan and Neem 
 2. Eucalyptus and Teak 
 3. Peepal and Neem 
 4. Teak and Banyan 

  d¾+<ó�Ö ç|�È\T |�P�+ºq #î³T¢ 

 1. eTç] eT]jáTT yû|� 

2. jáTÖ¿£*|�¼dt eT]jáTT fñÅ£� 

3. s�$ eT]jáTT yû|� 

4. fñÅ£� eT]jáTT eTç]  

  
94. The Gandhara Janapada was situated on the bank of this river  

  1. Ganga 

 2. Ravi 
 3. Sutlez 
 4. Jhelum  
 >±+<ó�sÁ Èq|�<�+ � qB rs�q Hî\¿=+~. 

 1. >·+>± 

 2. s�$ 

 3. d�fÉ¢íCÙ 

 4. J\+  

  



95. ‘Samyak Saadhana’ means  

  1. Resist evil 

 2. Practice meditation   
 3. Control your thoughts 
 4. Work for the good of others 

 »d�eT«¿ù kÍ<ó�qµ nq>± 

 1. #î&�TqT m~]+#á³+ 

 2. <ó�«q+ kÍ<ó�q #ûjáT³+ 

 3. �ýË#áq\qT �jáT+çÜ+#á³+ 

 4. �ÔásÁT\ eT+º¿Ãd�+ |�� #ûjáT³+  

 
96. The word ‘Environment’ is derived from the word ‘Environer’ 

of the following language 
 1. Greek 
 2. French 
 3. Latin 
 4. German  
 »|�s�«esÁD+ (m�Çs�Hî�+{Ù) nHû |�<�+ »m�ÇsÃqsYµ nHû � u²cÍ 

|�<�+ qT+&� �ÔáÎq�yîT®+~. 

 1. ç^Å£� 

 2. ç�|�+#Y 

 3. ý²{ìH� 

 4. ÈsÁ�H�  

 
 

  



97. Identify the ‘Literary source’ from the following  

  1. Stupa  

 2. Ornaments  
 3. Account by Foreign Travellers  
 4. Temple wall Inscriptions  

 ç¿ì+~ y�� qT+&� »*ÏÔá �<ó�s���µ >·T]ï+#á+&�.  

 1. d�Öï|�+ 

 2. �uó�sÁD²\T  

 3. $<ûo jáÖçÜÅ£�\ ¿£<�̧H�\T 

 4. <ûy�\jáT >Ã&� Xæd�H�\T 

 

98. The Kakatiya Kingdom emerged after the fall of this Regional 
Kingdom  

  1. Pandyas 

 2. Hoyasala 
 3. Cholas  
 4. Western Chalukyas  

 � çbÍ+rjáT s�È« |�ÔáH�q+ÔásÁ+ ¿±¿£rjáT s�È«+ �$sÁÒÛ$+º+~ 

 1. bÍ+&�T«\T 

 2. V�²ÃjáTd�\T\T 

 3. #ÃÞø�\T 

 4. |�¥ÌeT #�Þø�Å£�«\T  

 

 

 

 

 



99. The Bhakti movement started in this century  
   »uó�¿ìï �<�«eT+µ � XøÔ��Ý+ýË çbÍsÁ+uó�yîT®q~ 

   1. 8 

 2. 10 
 3. 11 
 4. 12  
 
100. The Indian National Congress demanded a Constituent 

Assembly for the first time in  
 uó²sÁÔá C²rjáT ¿±+çÂ>dt ÿ¿£ s�C²«+>· d�uó� ¿Ãd�+ yîTT<�{ìkÍ]>±  

&�eÖ+&�T #ûd¾q d�+eÔáàsÁ+ 

  1. 1928 

 2. 1934 
 3. 1942 
 4. 1946 
 
101. Identify the statement that does not reflect the coalition 

government in the following. 

  1. Political parties co-operate to form a government  

 2. No single party has achieved an absolute majority  
 3. One party achieves absolute majority  
 4. An alliance formed by two or more parties  
 ç¿ì+~ y��ýË d�+¿¡sÁ� ç|�uó�TÔ�Ç�� ç|�Ü_+_+#á� y�¿±«�� >·T]ï+#á+&�. 

 1. ç|�uó�TÔáÇ @s�Î³TÅ£� s�È¿¡jáT bÍ ¼̄\T d�V�²¿£]+#áTÅ£�+{²sTT. 

 2. @ ÿ¿£Ø bÍ ¼̄ d�+|�PsÁ� yîTC²]{¡ kÍ~ó+#á<�T 

 3. ÿ¿£ bÍ ¼̄ d�+|�PsÁ� yîTC²]{¡ kÍ~ód�Tï+~. 

 4. Âs+&�T ýñ¿£ n+Ôá¿£+fñ mÅ£�Øe bÍ¯¼\T @s�Î³T #ûd�TÅ£�q� Å£L³$T  
  



102. Find out the ‘Information Sign’ from the following  
 ç¿ì+~ y�� qT+&� »d�eÖ#�sÁ >·TsÁTïµ qT ¿£qT>=q+&�.  

 1.  

 2.   

 3.   

 4.   

103. Weekly markets can sell the goods at lower prices than the 
regular markets because of  

  1. The low maintenance costs  

 2. Selling of cheap quality goods  
 3. No demand of their goods  
 4. Selling only agricultural goods  

 y�s�+Ôá|�Ú eÖÂsØ³T¢ kÍ<ó�sÁD eÖÂsØ{Ù <ó�sÁ\ ¿£+fñ ÔáÅ£�Øe  

<ó�sÁ\Å£� ed�TïeÚ\qT $ç¿£sTT+#á>·\T>·T³Å£� >·\ ¿±sÁD+ 

 1. �sÁÇV�²D² KsÁTÌ\T ÔáÅ£�Øe>± �+&�T³ 

 2. H�d¾sÁ¿£|�Ú ed�TïeÚ\T neTT�³ 

 3. y�] ed�TïeÚ\Å£� Ðs�¿¡ ýñ¿£bþeÚ³ 

 4. e«ekÍjáT d�+�+~óÔá ed�TïeÚ\qT eÖçÔáyûT neTT�³ 

 
  



104. Match the following 
 i) CITES  a) Water Market 
 ii) Amreli  b) International agreement 
 iii) Shelter belts  c) nature of the parent rock 

iv) Soil formation d) Costal areas 
 ç¿ì+~ y��� ÈÔá|�sÁ#á+&�. 

 i) CITES  a) ú{ì eÖÂsØ{Ù 

 ii) nçyûT©   b) n+Ôás�̈rjáT ÿ|�Î+<�+ 

 iii) �w\¼sY uÉýÙ¼à  c) eÖÔá�¥\ d�Çuó²e+ 

iv) Hû\\T @sÁÎ&�T³ d) ¿ÃkÍï çbÍ+Ô�\T 

  1. i-b, ii-d, iii-a, iv-c 

 2. i-b, ii-a, iii-d, iv-c 
 3. i-a, ii-b, iii-c, iv-d 
 4. i-d, ii-b, iii-c, iv-a 
 

  



105. Identify the true statements about Constitution  
 a) All democratic countries are likely to have a  

  Constitution 
 b) All countries that have a Constitution are Democratic  
 c) The Constitution serves several purposes  
 d) Constitution tells us what the fundamental nature of  

  society 

  s�C²«+>·+ >·T]+ºq d�]jî®Tq y�¿±«\qT >·T]ï+#á+&�. 

 a) n�� ç|�C²kÍÇ$T¿£ <ûXæ\Å£� s�C²«+>±\T �+&û ne¿±Xø+  

  �+~.  

 b) s�C²«+>±\T �q� n�� <ûXæ\T ç|�C²kÍÇeT« <ûXæýñ  

 c) s�C²«+>·+ e\¢ $$<ó� ç|�jîÖÈH�\T �H��sTT 

 d) ÿ¿£ d�eÖÈ+ jîTT¿£Ø eTò*¿£ d�Çuó²y��� s�C²«+>·+  

  Ôî*jáTCñd�Tï+~. 

 1. a, b, c 
 2. a, c, d 
 3. b, c, d 
 4. a, b, c, d 
 

106. Mid-day meal is provided in government and government 
aided schools because of  

  1. Public Interest Litigation (PIL) 

 2. First Information Report (FIR) 
 3. Election Commission 
 4. High Court   
 ç|�uó�TÔáÇ eT]jáTT ç|�uó�TÔáÇ msTT&î&� bÍsÄÁXæ\ýË eT<ó�«V�²� uóËÈq+ 

n+~+#á&�+ �ç¿ì+~ ¿±sÁD+ e\q ÈsÁT>·TÔáT+~.  

 1. ç|�C² ç|�jîÖÈH�\ y�«È«+ 

 2. Ô=* d�eÖ#�sÁ �yû~¿£ 

 3. m��¿£\ d�+|��T+ 

 4. �VÕ²¿ÃsÁT¼  



107. Aadivasis use approximately the following types of  
plant species for medicinal purposes  

 �~y�dÓ\T d�TeÖsÁT>± ��� sÁ¿±\ e�¿£� C²ÔáT\qT Ww�<ó�  

ç|�jîÖÈH�\ ¿=sÁÅ£� �|�jîÖÐkÍïsÁT.  

  1. 3,500 
 2. 8,000 
 3. 425 
 4. 550  
 
108. Identify the Human input from the following  
 1. Sunshine 
 2. Rainfall 
 3. Temperature  
 4. Chemicals 
 ç¿ì+~ y�{ìýË eÖqe �|³T¼�&�� >·T]ï+#á+&�. 

  1. d�ÖsÁ«sÁ¥� 

 2. esÁübÍÔá+  

 3. �cþ�ç>·Ôá 

4.  sÁkÍjáTH�\T  

 
  



109. This factor is responsible for determining the colour, texture,  
chemical properties, mineral content of soil 

 1. Climate  
 2. Time 
 3. Parent Rock   
 4. Flora, Fauna and Micro organisms  

 Hû\ jîTT¿£Ø sÁ+>·T, sÁÖ|�+, sÁkÍjáTq \¿£�D²\T, K�È |�<�s��\qT 

�sÁ�sTT+#û ¿±sÁ¿£+  

 1. y�Ô�esÁD+ 

 2. ¿±\+ 

3. eÖÔá�¥\  

4. yîTT¿£Ø\T, È+ÔáTeÚ\T eT]jáTT d�Ö¿£��JeÚ\T  

 
110. One of the following is not a characteristic of minerals   
 1. They are created by natural process 
 2. They have a definite chemical composition  
 3. They are inexhaustible  
 4. Their distribution is uneven  
 ç¿ì+~ y��ýË K�È \¿£�D+ ¿±�~  

 1. n$ d�V�²È ç|�ç¿ìjáT\ <�Çs� d��w¾¼+#á�&�Ô�sTT 

 2. y�{ì¿ì KºÌÛÔáyîT®q sÁkÍjáTq Å£LsÁTÎ �+³T+~. 

3. n$ Ôá]ÐbþeÚ 

4. y�{ì $d�ïsÁD nd�eÖq+>± �+³T+~.   

 
  



111. Identify the wrong statement regarding the Cotton Textile  
Industry  

 1. Cotton, wool, silk, jute have been used for making  
  cloth 

 2. Fibres are the raw material of textile industry 
 3. Fibres are naturally obtained from wool, silk, cotton 
 4. Man-made fibres include linen and Jute   
 ç|�Üï |�]çXøeTÅ£� d�+�+~ó+º Ôá|�ð y�¿±«�� >·T]ï+#á+&�.  

 1. ç|�Üï, ���, |�³T¼, Èq|�H�sÁ\qT e�kÍï\T ÔájáÖsÁT#ûjáT&��¿ì 

  �|�jîÖÐkÍïsÁT.  

 2. qÖ\T nHû~ e�d�ï |�]XøçeTÅ£� eTT&�|�<�sÁ�+ 

3. qÖ\T d�V�²È+>± ���, |�³T¼, ç|�Üï qT+&� \_ód�Tï+~. 

4. eÖqe �]�Ôá �ÔáÎÔáTï\ýË H�sÁ, Èq|�H�sÁ �H��sTT.  

  



112. The reasons for conducted the survey in India during the 
colonial rule by the British 

 a)   To prepare for census operations every 10 years  
 b)   To gather necessary information for effective   

 administration 
 c)  To learn about the topography, soil quality and 

 cropping patterns  
 d) To record only the religious beliefs of the people 
 e\d� bÍ\qýË uó²sÁÔá<ûXø+ýË ç_{¡wt y�sÁT d�¹sÇ �sÁÇV¾²+#á&��¿ì  

¿±sÁD²\T 

 a) ç|�Ü 10 d�+öö Å£� ÿ¿£kÍ] Èq>·Dq d¾<�Æ+ #ûjáT&��¿ì  

 b) d�eTsÁÆe+ÔáyîT®q |�]bÍ\q ¿Ãd�+ ned�sÁyîT®q d�eÖ#�s��� 

 �d¿£]+#á&��¿ì 

 c) uó�Öuó²>·+, Hû\ H�D«Ôá eT]jáTT |�+³\ qeTÖH� >·T]+º  

 Ôî\Td�T¿Ãe&��¿ì  

 d)  ç|�È\ eTÔá|�sÁyîT®q $XæÇkÍ\qT eÖçÔáyûT qyîÖ<�T  

 #ûjáT&��¿ì 

 1. a, b, c 
 2. a, b    
 3. b, c, d 
 4. a, b, c, d   
  
 

  



113. Swami Vivekananda’s message to the people of India  
regarding their duties  

 1. To focus on technical advancements  
 2. To rise above the narrow confines of their ‘religion of 

 the kitchen’ and serve the nation  
 3. To promote India’s colonial ties  
 4. To leave India and settle abroad     
 uó²sÁÔá ç|�È\Å£� y�] ¿£sÁïe«+ >·T]+º kÍÇ$T $yû¿±q+<� n+~+ºq 

d�+<ûXø+ 

 1. kÍ+¹¿Ü¿£ |�ÚsÃ>·ÔáT\�|Õ <��w¾¼ �|³¼&�+ 

 2.  d�+Å£�ºÔá uó²y�\ qT+&� �jáT³|�&� <ûXø�deÅ£� ¿£�w¾  

 #ûjáÖ\� 

 3. uó²sÁÔá<ûXø+ jîTT¿£Ø e\d� d�+u+<ó�\qT çbþÔáàV¾²+#á&�+ 

 4. uó²sÁÔYqT $&�º $<ûXæ\ýË d¾�sÁ|�&�&�+ 

 
114. “Education ought to develop a person’s mind and soul”  

stated by  
 1. Swamy Vivekananda  
 2. Sarvepalli Radha Krishnan  
 3. Mahatma Gandhi  
 4. Dr. B.R. Ambedkar  
 »»$<�« ÿ¿£ e«¿ìï �T~Æ, �Ôá�C²ãq $¿±kÍ�¿ì <ÃV�²<�|�&�\�µµ  

�|s=Øq� y�sÁT 

 1. kÍÇ$T $yû¿±q+<� 

 2. d�¹sÇ|�*¢ s�<ó�¿£�w��H� 

3. eTV�äÔ��>±+Bó 

4. &�öö _. �sY. n+uñ<�ØsY  

 
  



115. According to Mira Behn, mankind must do this to survive as a 
physically, healthy and morally decent species  

 1. Invest more in scientific research 
 2. Increase Urbanization and Industrialization 
 3. Study nature’s balance and live within her laws  
 4. Focus on economic growth at all costs 

  Xæ¯sÁ¿£+>±, �sÃ>·«+>± eT]jáTT HîÕÜ¿£+>± eT+ºy�]>± eTqT>·&�  

kÍÐ+#á&��¿ì eÖqeC²Ü Ôá|�Î�d�]>± �$<ó�+>± #ûjáÖ* n�  

MTs� uÉ�V²H� #îbÍÎsÁT.  

 1. Xæ�dÓïjáT |�]XË<ó�qýË eT]+Ôá �|³T¼�&� �|{²¼*. 

 2. |�³¼D¡¿£sÁDqT, bÍ]çXæ$T¿¡¿£sÁDqT �|+#�* 

 3. ç|�¿£�Ü d�eTÔêý²«�� n<ó�«jáTq+ #ûd¾, y�{ì �jáTeÖ\Å£� 

 nqT>·TD+>± J$+#�*. 

  4. �]�¿£ e�~Æ �|Õ eÖçÔáyûT <��w¾¼ �|{²¼*.  

 
116. Identify the article which states that no citizen of India shall be  

discriminated against on the basis of religion, caste, race, sex  
 or place of birth  

 eTÔá+, C²Ü, Å£�\+, *+>·+ ýñ<� Èq�d��\+ �<ó�sÁ+>± uó²sÁÔá<ûXø+ýË�

@ båsÁT&�T $e¿£�Å£� ýËqT¿±Å£L&�<�� Ôî*jáTCñ�d s�C²«+>·+ýË� 

n~ó¿£sÁD²�� >·T]ï+#á+&�.  

 1. 17 
 2. 15 
 3. 18 
 4. 28   

  



117. Natural Vegetation (Virgin Vegetation) refers to    
 1. Cultivated crops and fruits, orchards only  
 2. The plant community that has grown without human aid 

 and undisturbed by humans  
 3. The plants that grown with human aid  
 4. The plants of a particular period  

 d�V�²È e�¿£� d�+|�<� (d�Ç#áÌÛ e�¿£�d�+|�<�) nq>±  

 1. kÍ>·T #ûjáT�&û |�+³\T, |�+&�T¢ eT]jáTT |�+&�¢ÔÃ³\T eÖçÔáyûT 

 2. eÖqe ç|�yûTjáT+ ýñÅ£�+&�, eÖqe #ásÁ«\Å£� >·T]¿±Å£�+&�  

  �|]Ðq yîTT¿£Ø\ d�eTÖV�²+ 

3. eÖqe ç|�yûTjáT+ÔÃ �|]¹> yîTT¿£Ø\T 

4. �]Æw�¼ ¿±ý²�¿ì #î+~q yîTT¿£Ø\T  

 

118. Identify the wrong statement in the following  
 1. The population density of India in the year 2011 was 382 
 2. Only China has higher average population density  

 than India 
 3. India’s share of world’s area and population is 

 respectively 2.4% and 17.5% 
 4. The most populated state in India is Uttar Pradesh 
  ç¿ì+~ y��ýË d�]¿±� y�¿±«�� >·T]ï+#á+&�.  

 1. 2011 d�+ööýË uó²sÁÔá<ûXø ÈqkÍ+ç<�Ôá 382 

 2. #îÕH� eÖçÔáyûT uó²sÁÔá<ûXø+ ¿£+fñ mÅ£�Øe d�>·³T ÈqkÍ+ç<�Ôá 

 ¿£*Ð �+~  

 3. ç|�|�+#á $dÓïsÁ�+ eT]jáTT ÈH�uó²ýË uó²sÁÔá<ûXø+ y�{²  

 esÁTd�>± 2.4% eT]jáTT 17.5% 

  4. uó²sÁÔá<ûXø+ýË nÔá«~ó¿£ ÈH�uó² ¿£*Ðq s��w�¼+ �ÔáïsÁç|�<ûXÙ  

 

 



119. Pastoral Nomads known as ‘Gujjar Bakarwals’ of Jammu  
Kashmir came together for their journey, forming in the name  
of    

 1. Lahul 
 2. Gaddi 
 3. Ringal  
 4. Kafila  
 ÈeTÖ� ¿±o�sY Å£� #î+~q »>·TÈ̈sY �¿£s�ÇýÙµ nHû d�+#�sÁ |�Xø� 

bþw�Å£�\T � �|sÁTÔÃ d�eTÖV�²+>± @sÁÎ&� ç|�jáÖD²�� kÍÐ+#ûy�sÁT 

 1. ý²V�QýÙ 

 2. >·&�¦ 

 3. ]+>·ýÙ 

  4. ¿£|�¾\  

 
120. Number of seats reserved for the Scheduled Castes and the  

Scheduled Tribes in the Lok Sabha respectively  
 ýË¿ùd�uó�ýË �w&�Ö«ýÙ¦ Å£�ý²\T eT]jáTT �w&�T«ýÙ¦ Ôî>·\ y�]¿ì ]ÈsÁTÇ 

#ûjáT�&�q kÍ�H�\ d�+K« esÁTd�>±  

 1. 84, 47 
 2. 47, 84  
 3. 83, 42 
 4. 86, 45 
 
  

 
  



121. This programme was launched in 1999 and aims at bringing 
the assisted poor families above the poverty line by organizing 
them into self-help groups through a mix of bank credit and 
government subsidy  

 1. Antyodaya Anna Yozana (AAY)  
2. Swarnajayanti Gram Swarozgar Yojana (SGSY)  

 3. Pradhan Mantri Gramodaya Yozana (PMGY) 
 4. Prime Minister Rozgar Yozana (PMRY)  
 1999ýË çbÍsÁ+_ó+#á�&�, u²«+Å£�\ <�Çs� sÁTD d�<�TbÍjáT+  

eT]jáTT ç|�uó�TÔáÇ s�sTTr\ <�Çs� d�V�äjáT+ bõ+~q �|<� 

Å£�³T+u²\qT d�ÇjáT+ d�V�äjáT¿£ ç>·Ö|�Ú\T>± @s�Î³T #ûjáT&�+  

<�Çs� y�]� <�]ç<�« ¹sKÅ£� m>·TeÅ£� rd�TÅ£�s�e³+ � ¿±sÁ«ç¿£eT+

jîTT¿£Ø \¿£�«+  

 1. n+ÔÃ«<�jáT nq� jîÖÈq (AAY)  

 2. d�ÇsÁ�ÈjáT+Ü ç>±eT d�ÇsÃCÙ>±sY jîÖÈq (SGSY) 

 3. ç|�<ó�qeT+çÜ ç>±yîÖ<�jáT jîÖÈq (PMGY) 

 4. ç|�<ó�qeT+çÜ sÃCÙ>±sY jîÖÈq (PMRY)  

 
  



122. Food Security is ensured in a country only if    
 a) enough food is available for all the persons  
 b) all persons have the capacity to buy food of acceptable 

 quality 
 c) there is no barrier on access to food 
 ÿ¿£ <ûXø+ýË �V�äsÁ uó�ç<�Ôá m|�ð&�T �+³T+<�+fñ  

 a) e«Å£�ï\+<�]¿¡ ÔáÐq+Ôá �V�äsÁ+ n+<�Tu²³TýË �q�|�ð&�T 

 b) e«Å£�ï\+<�sÁÖ y�]¿ì d�]|�&û+Ôá �yîÖ<�jîÖ>·«yîT®q �V�äs��� 

 ¿=qT>Ã\T #û�d kÍeTs��«�� ¿£*Ð �q�|�ð&�T 

 c) �V�äs��� bõ+<�&�+ýË m³Te+{ì �³+¿£+ ýñq|�ð&�T  

 1. a, b 
 2. a, c 
 3. a, b, c 
 4.   b  
 
123. The Kudankulam Nuclear Power Project of Tamilnadu is 

located in the following district of Tamilnadu  
    1. Tirunelveli 
 2. Tiruvannamalai 
 3. Tiruvallur  
 4. Tiruchirapalli  
  Å£�&�+Å£�Þø+ nD$<�T«ÔY ¹¿+ç<�+ Ôá$TÞøH�&�TýË� � ç¿ì+~  

�ý²¢ýË ¿£\<�T. 

 1. ÜsÁTqýñÇ* 

 2. ÜsÁTeD²�eTýÉÕ 

 3. ÜsÁTeÞøSßsY 

  4. ÜsÁTºs�|�*¢ 

 
  



124. Identify the effects of climate change in the following  
 a) A rise in sea level  
 b) Droughts and floods are expected to increase  
 c) The faster melting of Himalayan glaciers  
 d)  Coastal areas lose their livelihood 
 � ç¿ì+~ y��ýË y�Ô�y�sÁD eÖsÁTÎ ç|�uó²y�\qT >·T]ï+#á+&�. 

 a) d�eTTç<�eT³¼+ �|sÁT>·T<�\ 

 b) ¿£sÁTeÚ\T, esÁ<�\T mÅ£�ØejûT« ne¿±Xø+ 

 c) V¾²eÖ\jáÖýË¢� V¾²eTú q<�\T yû>·+>± ¿£sÁ>·&�+  

d) rsÁ çbÍ+Ô�\T JeHÃbÍ~ó� ¿ÃýËÎeÚ³ 

 1. a, b, c, d 
 2. a, b, c 
 3. b, c, d 
 4. a, c  
 
125. It is not the tributary of the Indus river  
 1. Beas 
 2. Chenab 
 3. Kosi 
 4. Jhelum  
 d¾+<ó�Öq~¿ì �|�q~ ¿±�~  

 1. _jáÖdt 

 2. NH�uÙ 

3. ¿Ãd¾ 

 4. J\+  

 
  



126. The city of Simla was originally designed for a population of   
 d¾eÖ¢ q>·sÁ+ �C²�¿ì �+ÔáeT+~ ÈH�uó² ¿Ãd�+ �<ûÆ¥+#á�&�q~. 

  1. 1,00,000 
 2. 75,000 
 3. 50,000 
 4. 25,000  
 
127. The fourth requirement factor of the producer to produce 

goods and services is 
 1. Enterprise  
 2. Raw material 
 3. Capital 
 4. Labour  

 ed�Tï�de\qT �ÔáÎÜï #ûjáT{²�¿ì �ÔáÎÜï<�sÁTqÅ£� ned�sÁyîT®q  

H�\Ze ¿±sÁ¿£+  

 1. y�«bÍsÁ<�¿£�Ôá 

 2. eTT&�d�sÁTÅ£� 

 3. �|³T¼�&� 

4. çXæ$TÅ£�\T  

 
  



128. The part lying between Teesta and Dihang rivers in the  
Himalayan divisions that has been demarcated by river  
valleys is  

 1.  Assam Himalayas  
 2.   Nepal Himalayas 
 3.   Kumaon Himalayas 
 4.   Punjab Himalayas 
 qB ýËjáT\ #ûÔá yûÂsÕq V¾²eÖ\jáT $uó²>±\ýË rkÍï eT]jáTT  

~V�ä+>́ q<�T\ eT<ó�« �q� uó²>·+  

 1. nkÍà+ V¾²eÖ\jáÖ\T 

 2. HûbÍýÙ V¾²eÖ\jáÖ\T 

 3. Å£�eTjáTÖH� V¾²eÖ\jáÖ\T 

 4. |�+C²uÙ V¾²eÖ\jáÖ\T  

 
129. The reason for the larger increase of urban population in India  

during 1961-2011 was  
 1. Migration of people from rural area 
 2. Declaration of rural areas as urban areas  
 3. Natural growth of urban population  
 4. Expansion of urban areas  
 uó²sÁÔá<ûXø+ýË 1961`2011\ eT<ó�«¿±\+ýË |�³¼D ÈH�uó²ýË n~ó¿£ 

�|sÁT>·T<�\Å£� ¿±sÁD+ 

 1. ç>±MTD çbÍ+Ô�\ qT+&� ç|�È\T e\d�  

 2. ç>±MTD çbÍ+Ô�\qT |�³¼DçbÍ+Ô�\T>± ç|�¿£{ì+#á³+ 

 3. |�³¼D ÈH�uó² d�V�²È �|sÁT>·T<�\ 

4. |�³¼D çbÍ+Ô�\ $d�ïsÁD  

 
  



130. Identify the mismatch pair in the following  
 1.  Russian Revolution   - 1917 
 2. Treaty of Versailles  - 1919 
 3. End of Second World War - 1945 
 4. Formation of United Nations Organization - 1946 
 ç¿ì+~ y��ýË Ôá|�ð>± �q� ÈÔáqT >·T]ï+#á+&�.  

 1. sÁcÍ« $|�¢e+ ` 1917 

 2. esÁàsTTýÙà ÿ|�Î+<�+ ` 1919 

 3. Âs+&�e ç|�|�+#ájáTT<�Æ+ eTTÐ+|�Ú ` 1945 

4. ×¿£«s�È« d�$TÜ @s�Î³T ` 1946  

 
131. People opposed Ngo Dinh Diem’s dictatorial rule under the 

banner of the ‘National Liberation Front’(NLF) in the country 
of    

 1. China 
 2. Vietnam  
 3. Nigeria 
 4. France 
 ç|�È\T mH�>Ã &�H� &�+ jîTT¿£Ø �jáT+Ôá�ÔáÇ bÍ\qqT »C²rjáT  

$eTT¿ìï d�eÖK«µ (NLF) nHû �|sÁTÔÃ e«Ü¹s¿ì+ºq <ûXø+ 

 1. #îÕH� 

 2. $jáTÔ��+ 

 3. HîÕJ]jáÖ 

  4. çb�ÍH�à  

 

  



132. The party in Britain that was more willing to help Indians  
attain freedom at the time of Second World War   

 1. The Conservative Party 
 2. The Independent Group 
 3. The Labour Party 
 4. The Liberal Democrats  

   Âs+&�e ç|�|�+#ájáTT<�Æ d�eTjáT+ýË uó²sÁrjáTT\T kÍÇÔá+çÔá«+  

bõ+<�{²�¿ì mÅ£�Øe d�TeTTK+>± �q� ç_³H�ýË� bÍ¯¼ 

 1. ¿£q¹̈sÇ{ìy� bÍ ¼̄ 

 2. �+&��|+&î+{Ù ç>·Ö|t 

 3. ýñ�sY bÍ ¼̄ 

  4. *�sÁýÙ &îeÖç¿±{Ùà   

 
133. The head of the Indian Union as per the Draft  

Constitution of India was 
 1. The Prime Minister  
 2. The Vice President  
 3. The Chief Justice of Supreme Court  
 4. The President  

 uó²sÁÔá eTTkÍsTT<� s�C²«+>·+ ç|�¿±sÁ+ uó²sÁÔá d�eÖK«Å£� n~ó|�Ü 

  1. ç|�<ó�qeT+çÜ 

2. �bÍ<ó�«Å£��&�T 

3. d�Tç|Ó+ ¿ÃsÁT¼ ç|�<ó�q H�«jáTeTÖ]ï 

4. n<ó�«Å£��&�T  

 
  



134. ‘Untouchability is nothing but the symptom of the disease,  
namely, the caste system’ opined by the following member of 
the Constituent Assembly.  

 1. Sri Promotha Ranjan Thakur  
 2. Sri Rohini Kumar Chawdary  
 3. Sri Dhirendra Nath Datta  
 4. Sri S.C. Banerjee  
 »n+³s��Ôáq+ nHû~ Å£�\ e«ed�� nHû y�«~ó jîTT¿£Ø \¿£�D+  

eÖçÔáyûTµ n� n_óçbÍjáT |�&�q � ç¿ì+~ s�C²«+>· d�uó� d�uó�T«&�T 

  1. ço çbõeT<�̧ sÁ+ÈH� sÄ�Å£LsY 

 2. ço sÃV¾²Dì Å£�eÖsY #ê<�] 

3. ço B¹̧s+ç<�H�<�̧ <�Ôáï 

4. ço mdt.d¾. uÉq¯̈  

 
135. This item is not typically shown on a Thematic map in the  

following   
 1. Railways and Roads  
 2. Soils and Forests 
 3. Historical timeline 
 4. Crops and minerals 
 ç¿ì+~ y�{ìýË � n+Xø+ $w�jáT �¹sÆ¥Ôá |�³+ýË #áÖ|¾+#á�&�<�T. 

 1. ÂsÕýñÇ\T, sÁV�²<�sÁT\T 

 2. Hû\\T, n&�eÚ\T 

 3. #�]çÔ�Ôá�¿£ ¿±\ç¿£eT+ 

4. |�+³\T, K�C²\T 

 

  



136. It is not one of the concessions made by the Prime Minister 
Lal Bahadur Shastri to assuage the feelings of the anti-Hindi 
camp during anti-Hindi agitation.  

 1. The right of each state to have a language of its own  
 2. Communications could be in regional languages with  

  Hindi translations.  
 3. English would continue to be the communication  

  language between the centre and the states. 
 4. The civil service exams would be conducted in English  

  rather than Hindi alone 
 V¾²+B e«Ü¹s¿£ �<�«eT d�eTjáT+ýË V¾²+B e«Ü¹s¿£ ¥_sÁ+ýË�  

�<ûÇ>±\qT Xæ+Ôá|�sÁ#á{²�¿ì n|�Î{ì ç|�<ó�� ý²ýÙ �V�Q<�ÖsY Xæ�d¾ï 

ç|�¿£{ì+ºq $TqV�äjáT+|�Ú\ýË �~ ÿ¿£{ì ¿±<�T 

 1. ç|�r s��cÍ¼�¿ì Ôáq kõ+Ôá uó²w� ¿£*Ð �+&û V�²Å£�Ø 

2. |�çÔá e«eV�äs�\T V¾²+B nqTy�<�+ÔÃ çbÍ+rjáT uó²w�\ýË  

  �+&�e#áTÌ  

3.  ¹¿+ç<�̀ s��cÍ¼\ eT<ó�« e«eV�äsÁ uó²w�>± �+^¢w�§  

  ¿=qkÍ>·TÔáT+~. 

 4.   d¾$ýÙ d�̄ Çd�T |�̄ ¿£�\T ¹¿e\+ V¾²+BýËHû ¿±Å£�+&�  

  �+ ¢̂w�§ýË Å£L&� �sÁÇV¾²kÍïsÁT.  

 
  



137. Identify the specific functions of the organs of United Nations 
Organisation in the following  

 a) Providing justice in the context of national crimes  
 b) Alleviating poverty 
 c) Improving education and heath facilities  
 d) Maintaining peace and security 

 ç¿ì+~ y��ýË ×¿£«s�È« d�$TÜ n+>±\ ç|�Ôû«¿£ $<ó�T\qT >·T]ï+#á+&�. 

 a) C²rjáT Hûs�\ Hû|�<ó�«+ýË H�«jáÖ�� n+~+#á&�+  

 b) �|<�]¿±�� �sÁÖ�*+#á³+  

c) $<�«, �sÃ>·« d�<�TbÍjáÖ\qT yîTsÁT>·T|�sÁÌ&�+  

d) Xæ+Ü, uó�ç<�Ôá\qT ¿±bÍ&�³+ 

 1. b, c, d 
 2. a, b, c 
 3. a, b, d 
 4.  a, c, d  

 

138. The movement that aims at “ensuring the ability of the Earth 
to nurture life in all its diversity” and over the years it has 
developed the idea of ‘sustainable development’  

 1.  Narmada Bachao Andolan  
 2. Greenpeace Movement   
 3.  Silent Valley Movement   
 4.  Meira Paibi Movement  

 

 
»»nq+Ôá yîÕ$<ó�«ÔáÔÃ Å£L&�q Jy��� uó�Ö$T bþw¾+#û Xø¿ìï� ¿±bÍ&�³+µµ

�<ûÝXø+>± ¿£*Ð, ¿±\ç¿£eT+ýË »d�Td¾�sÁ n_óe�~Æµ nq� uó²eqqT  

eTT+<�TÅ£� ÔîºÌq �<�«eT+ 

 1. qsÁ�<� �#�yÃ �+<ÃÞøq 

 2. ç^H�|Ódt �<�«eT+ 

 3. �dÕýÉ+{Ù y�«© �<�«eT+ 

4. yîT®s��|Õ; �<�«eT+  



139. The subject that creates awareness on issues like crimes, slums 
and drug usage is  

 1. Geography 
 2. Economics 
 3. Sociology  
 4. History  

 Hûs�\T, eTT]¿ìy�&�\T, ç&�>à́ y�&�¿£+ e+{ì n+Xæ\ |�³¢ ne>±V�²q 

¿£*Z+#û Xæ�d�ï+  

1. uó�>Ã[¿£ Xæ�d�ï+ 

 2. nsÁÆ Xæ�d�ï+ 

 3. kÍeÖ�¿£ Xæ�d�ï+ 

4. #á]çÔá 

 
140. Due to the tsunami, millions of people lost their lives and  

properties were damaged. Loss of life and damage of property 
are considered as this type of problem. 

 1. Social problem 
 2. Environmental problem 
 3. Economic problem 
 4. Socio-economic problem  
 d�TH�MT ¿±sÁD+>± ¿=�� \¿£�\ eT+~ çbÍD²\qT ¿ÃýËÎjáÖsÁT, 

�d�Tï\qT qw�¼bþjáÖsÁT. çbÍD²\T ¿ÃýËÎe&�+, �d�Tï\T qw�¼bþe&�+ 

nHû~ �sÁ¿£yîT®q d�eTd�«>± |�]>·DìkÍïsÁT.  

 1. kÍ+|�¾T¿£ d�eTd�« 

2. |�s�«esÁD d�eTd�« 

3.  �]�¿£ d�eTd�« 

4.  kÍ+|�¾T¿£-�]�¿£ d�eTd�« 

  



141. The skills of narration, reading, dramatization, explanation and 
presentation are   

 1. Executive Skills 
 2. Teaching Skills  
 3. Supervisory Skills 
 4. Expression Skills  

 ¿£<̧�q+, |�sÄÁq+, H�³¿¡¿£sÁD, $esÁD, ç|�<�sÁôq nHû HîÕ|�ÚD²«\T   

 1.  ¿±sÁ«�sÁÇV�²D² HîÕ|�ÚD²«\T 

 2. uË<ó�H� HîÕ|�ÚD²«\T 

 3. |�sÁ«yû¿£�D² HîÕ|�ÚD²«\T 

4. uó²e e«¿¡ìï¿£sÁD HîÕ|�ÚD²«\T  

 
142. “Bill → Assembly → Council → Governor → Law”. 

This process comes under this knowledge  
 1. Conceptual knowledge  
 2. Factual knowledge 
 3. Procedural knowledge  
 4. Metacognitive knowledge  
 “_\T¢ → Xæd�qd�uó� → XæqqeT+&�* → >·esÁ�sY → #á³¼+” 

� ç|�ç¿ìjáT � C²ãq+ ç¿ì+~¿ì ed�Tï+~. 

 1. uó²eH� d�+�+~óÔá C²ãq+ 

 2. y�d�ïy�\Å£� d�+�+~ó+ºq C²ãq+ 

 3. $<ó�H�Ôá�¿£yîT®q C²ãq+ 

4. yîT{²¿±Ð�{ìy� C²ãq+  
  



143. The following document focuses on the key aspects like 
Content weightage, Plurality, Local issues, Scientific outlook, 
General responsibilities, Inter relationship among disciplines  

 $w�jáTuó²sÁ+, �V�QÔáÇ+, kÍ��¿£ n+Xæ\T, Xæ�dÓïjáT <��¿£Î<̧�+,  

kÍ<ó�sÁD u²<ó�«Ôá\T, $$<ó� $uó²>±\ eT<ó�« |�sÁd�ÎsÁ d�+�+<ó�+  

e+{ì eTTK«yîT®q n+Xæ\�|Õ <��w¾¼ �|{ì¼q ç¿ì+~ |�çÔá+ 

 1. RTE-2009 
 2. NCF-2005 
 3. NCFSE-2023 
 4. SCF-2011 
 

 
144. Answering the question such as “which state has the least 

number of MPs in the Lok Sabha?” By using the table that 
showed the result of third Lok Sabha election held in 1962 
indicates the following Academic Standard.     

 1. Conceptual Understanding  
 2. Appreciation and Sensitivity  
 3. Mapping Skills 
 4. Information Skills  
 1962ýË È]Ðq eTÖ&�e ýË¿ùd�uó� m��¿£\ |��*Ô�\qT Ôî*jáTCñd�Tïq� 

|�{ì¼¿£qT �|�jîÖÐ+º »»ýË¿ùd�uó�ýË nÔá«\Î m+.|Ó. kÍ�H�\T �q�  

s��w�¼+ @~?µµ nHû ç|�Xø�¿ì d�eÖ<ó�q+ #î|�Î&�+ nHû~ � $<�« 

ç|�eÖD²�� d�Öºd�Tï+~.  

 1. $w�jáÖe>±V�²q 

 2. ç|�Xø+d�, d�T��ÔáÔáÇ+  

 3.  |�³ HîÕ|�ÚD²«\T 

4. d�eÖ#�sÁ �d¿£sÁD HîÕ|�ÚD²«\T  

 
  



145. The teaching of Indian history by dividing it into Ancient, 
Medieval and Modern period is  

 1. Concentric Approach 
 2. Chronological Approach 
 3. Logical Approach  
 4. Spiral Approach 

 uó²sÁÔá<ûXø #á]çÔáqT çbÍNq jáTT>·+, eT<ó�« jáTT>·+, �<ó�T�¿£ jáTT>·+

>± $uó��+º uË~ó+#á&�+ nHû~  

 1. @¿£¹¿+ç<� �|�>·eT+  

 2. ¿±ý²qT>·TD �|�>·eT+  

 3. Ô�]Ø¿£ �|�>·eT+  

4. esÁTïý²¿±sÁ �|�>·eT+  

 
146. The first National Curriculum Frame Work was published in 

India in this year   

 uó²sÁÔá<ûXø+ýË yîTT³¼yîTT<�{ì C²rjáT $<�« ç|�D²[¿± #áç³+  

ç|�#áT]+ºq d�+eÔáàsÁ+  

 1.  1975 
 2.  1986 
 3. 2000 
 4. 2005  
 

  



147. The lessons for 6 to 8 classes are designed on the basis of   
 1. Themes 
 2. Competencies  
 3. Geographical factors  
 4. Economic factors  
 6 qT+&� 8 ÔásÁ>·ÔáT\ esÁÅ£� M{ì �<ó�sÁ+>± bÍsÄ�\ sÁÖ|�¿£\Îq  

ÈsÁT>·TÔáT+~. 

1. �Üe�Ô�ï\T 

2. kÍeTs��«\T 

3. uó�>Ã[¿£ n+Xæ\T 

4. �]Æ¿£ n+Xæ\T  

 
148. Identify the children to be focused by the teachers in inclusive 

class room.   
 a)  Children who are backward in learning  
 b)  Children with special needs  
 c)  Intelligent children  
 d)  Children of migrated families  
  ÔásÁ>·Ü >·~� d�$T�[Ôá+ #ûjáT&�+ýË �bÍ<ó�«jáTT&�T <��w¾¼  

�|{²¼*àq |¾\¢\qT >·T]ï+#á+&�. 

 a)   nuó�«d�q+ýË yîqT¿£�&�q |¾\¢\T 

 b)   ç|�Ôû«¿£ ned�s�\Tq� |¾\¢\T 

 c)   ç|�C²ãe+ÔáTýÉÕq |¾\¢\T  

 d)  e\d� Å£�³T+u²\ |¾\¢\T 

 1. a, b, c 
 2. b, c, d 
 3. a, b, d  
 4. a, b, c, d   
 



149. Identify the teaching method that was prominently  
used in the ancient Nalanda University in the following 

 1. Lecture method  
 2. Dramatization method  
 3. Discussion method  
 4. Project method  

 ç¿ì+~ y��ýË çbÍNq q\+<� $XøÇ$<�«\jáT+ýË ç|�eTTK+>±  

�|�jîÖÐ+ºq uË<ó�H� |�<�ÆÜ� >·T]ï+#á+&�. 

 1. �|�H�«d� |�<�ÆÜ 

 2. H�³¿¡¿£sÁD |�<�ÆÜ 

 3. #ás�Ì |�<�ÆÜ 

  4. ç|�¿£\ÎH� |�<�ÆÜ  

 

150. Identify the key steps in the inquiry based approach  
 a)  Raising real and authentic questions 

b)  Investingating and exploring resoures 
c)  Interpreting the information  
d) Presenting a report on the findings 

 $#�sÁD²<ó�sÁ �|�>·eT+ýË� eTTK« kþbÍH�\qT >·T]ï+#á+&�. 

 a)  y�d�ïeyîT®q, jáT<�sÁÆÔáÔÃ Å£L&�q ç|�Xø�\qT ýñeHîÔáï&�+ 

b) eqsÁT\ >·T]+º $#�]+º ¿£qT>=q&�+ 

c)  d�eÖ#�s��� y�«U²«�+#á&�+  

d)  Ôî\Td�TÅ£�q� n+Xæ\qT >·T]+º �yû~¿£ d�eT]Î+#áT³ 

 1. a, b, c 
 2. a, c, d  
 3. b, c, d 
 4. a, b, c, d 

 


